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Multiple Choice Questions: 5x1=5

Choose the appropriate question tag for
the statement :

Nirmala tries to get good marks in the

(A) does she ?
(B) was she ?
(C) doesn’t she ?
(D) didn’t she ?

(@) doesn’t she ?

1 1
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2. Read the given conversation and choose

the language function for the underlined

sentence :

Mahesh : Hi, good morning, how are
you ?

Suresh : Hello, I'm not feeling well.

Mahesh : I'm sorry. Shall I drop you to

the hospital ?
Suresh : No thanks. I will.

(A) Agreeing

(B) Offering help

(C) Requesting

(D) Seeking direction.

Ans. :
Comp. | (B) Offering help 1 1
3. Read the given conversation and fill in

the blank choosing the most appropriate

words :

Chandan : Hey Sneha, have you
missed the bus ?

Sneha : Yes. I had gone to the bus
station at 10:30 AM but
the bus had left at 10:15
AM.

Chandan : If you had gone to the bus
station at 10:00 AM you

................. missed the

bus
(A) will have (B) would have
(C) shall have (D) wouldn’t have.
Ans. :
Comp. | (D)  wouldn’t have 1 1
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4. Read the following and choose the
infinitive :
Mahesh was watching cricket match on
TV. Suddenly he heard a noise from
outside. He went outside to see what
had happened.
(A) was (B) went
(C) to see (D) heard.
Ans. :
Comp. | (C) to see 1 1
5. Choose the appropriate prefix to fill in
the blank :
Teacher complained to the Headmaster
about .....c.ccoceveniini. regular students is
the class.
(A) ir (B) im
(C) un (D) dis.
Ans. :
Rem. | (A) ir 1 1
II. Do as directed : 14x1=14
6. Which one of the following words has
two syllables ?
free, neat, politics, nature
Ans. :
Rem. | nature 1 1
7. Combine the word in Column-A with its
collocative word in Column-B :
‘A’ ‘B’
Book [ care, teacher, bank, pain |
Ans. :
Rem. | book bank 1 1
g Fill in the blank wusing the correct
article :
Rajeshis ......cooeeeeiints NCC student.
Ans.
Rem. | an 1 1
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9. Fill in the blank using suitable linker :

Suresh comes to school early ..............

his friend doesn’t.

Ans. :
Comp. | but 1 1
10. Fill in the blank with appropriate
preposition :
Sudha is working .............. a company.
Ans. :
Comp. | in / for 1 1
11. Fill in the blank with appropriate tense

form of the verb given in brackets :
Sneha .......cooeveiiinni. ( write ) short
stories to the periodicals regularly.

Ans. .
Comp. | writes 1 1

12. Give one word answer for the following :
One who is trained in doing acts of
public service.

Ans. :

Rem. | scout 1 1

13. Fill in the blank with opposite of the
underlined word :

Karthik bought a site but Shwetha

............. her site.
Ans.
Rem. | sold 1 1
14. Identify the part of speech of the

underlined word :
The stories are told interestingly.

Ans. :

Rem. | Adverb 1 1
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15.

16.

17.

18.

19.

Comp.

Exp.

Exp.

Exp.

Exp.

Write the correct form of the word given
in brackets :

The physical education teacher stressed
the ............ ( important ) of physical
exercises.

Ans. :
importance

Use the word ‘pay’ as verb in a sentence.

Ans. :
Meaningful sentence

Change into comparative degree :
Chandan is the tallest boy in the class.

Ans. :

Chandan is taller than any other boy in

the class.

Change into passive voice :
They are purchasing a car.

Ans. :
A car is being purchased by them.

Read the following conversation and

change the underlined sentence into

reported speech :

Pavithra : Hello Kusuma, how are
you ?

Kusuma : Hi, Iam not feeling well.

Kusuma told Pavithra ................... .

Ans. :

Kusuma told Pavithra that she was not

feeling well

1 1
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III. The following paragraph has two
errors. Edit the paragraph and rewrite
it in the answer-book : 1x2=2
20 Narendra pass the entrance exam in the

first division. He joined Missionary
College but sudden he changed the
college.

a) Verbal mistake to be corrected

b) Adverbial mistake to be corrected.
Ans. :

Exp. | a) passed 1

b) suddenly 1 2

IV. Combine the sentences using too ....
to and so ... that ... not: 1x2=2
21 The bag is heavy. I can’t lift it.

Ans. :

Exp. | ¥ The bag is too heavy for me to lift it.

* The bag is so heavy that I can’t lift
it. 1 1 2

V. Rearrange the following words to
make meaningful sentences :
1x2=2
29. a) friends / he / his / outside / went
/ to meet
b) in / a story / classroom / narrated
/ teacher

Ans. :

Exp. | a) He went outside to meet his friends. 1

b) Teacher narrated a story in

classroom. 1 2
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VI.

23.

24.

25.

Comp.

Exp.

Exp.

Answer the following questions in 2 -

3 sentences each : 9x2=18

Why did Anant and his parents come to
Bombay ?

Ans. :

Suffering from cancer — hopes in the
miracle of modern science — the best
cancer hospital in the city — would be

cured at the hospital.

Nehru chose Dr. Ambedkar as the law
minister. What might have prompted
Nehru to do so ?

Ans. :

Dr. Ambedkar’s skills in the field —
tribute to his vision of social justice —
infused into the new Indian polity —
tribute to the success — campaigns

against social injustice.

How did Dr. Ambedkar and Mahatma
Gandhi try to wipe out -caste
discrimination from India ?

Ans. :

Oneness of the Hindu Community —
Gandhiji — higher castes — duty
towards depressed classes — Ambedkar
— inherent rights to equality — duties

— stressed rights.

N| =

N —

N| =
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26. Why did the old man Don Anselmo
refuse to take extra money ?

Ans. :

Comp. | Don Anselmo — man of principles —

agreed to sell the land — surveying —

more land — Americans are good people

N —
N —
N

— he stick on to his words.

27. How did Satish's brother Inder try to
help him ?

Ans. :

Comp. | Satish was unable to hear a single word

— brother Inder sat for hours — talked

to him — teaching him words and

N| =
N| =
N

pronunciation.

28. Why do you think the Jazz player keeps

his head down ?

Ans. :

Comp. | Jazz player — like a black Ancient
mariner — wrinkled old face — full of
wearies — faded blue old shirt — old

jacket — unshaven face — clearly

N —
N —
N

indicates — a poor man.

29, "The poet calls the temples as 'epics in

rn

stone'." Justify the statement.

Ans. :

Comp. | Epics are long poems or stories —
Temples are constructed — puranas —
mythological stories — carved — stone

— in all the temples — Hence the poet

N| =
N| =
N

calls — epics in stone.
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30.

31.

Comp.

Comp.

Exp.

Why had Patil the Sub-inspector come
to Mohan’s house ?

OR
Babu and Manju were a Dbit
disappointed with the way students
were marching. What was the reason ?

Ans. :

Freedom movement — Mohan bought
cyclostyling machine — copies of speech
— Patil, friend of his father — search in

the house — to escape from this.
OR

The students were marching in
complete silence — no slogans — no
shouts — no argument — no protest —
not even aggressive in talk — they
thought that it will be a great protest

but couldn’t find such actions.

How do you say that Hanif is an
introvert ?

OR
Hanif was a young man with varied
talents and interests. Illustrate this
statement with examples.
Ans. :
Hanif — make friends at the age of 14
— his unique way of helping others —

the quality of his help — even after his
death.

OR

N| =
N| =

N —
N —

N| =
N| =
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Hanif dabbled in art — sketch — made
beautiful cards out of waste material —

read a great deal — loved playing drums

N| =
N| =
N

— music group — now called Hanif.

VII. Answer the following questions in

5 - 6 sentences each : 3x3=9

32. Physical disability is no barrier to
success. How do you substantiate this
with Satish Gujral’s life ?

Ans. :

Exp. | Satish met with an accident — badly
injured — bouts of fever and infections
— several operations — lost his hearing
— started to read — started to sketch
doodler — father didn’t like this —
finally his father agrees — providing all
facilities — destiny lay in canvas and

painting — come up with painting. 2 1 3

33. How did Smita fulfil her brother’s
desire ?

Ans. :

Exp. | Anant — suffering from cancer — desire
to see Pandit Ravi Shankar — not
possible due to illness — Smita —
knows her brother’s wish — daring
thought — agrees to attend concert —
meets Pandit Ravi Shankar — requests
him to come home — play for Anant —

musicians agree — They came and

played for Anant. 2 1 3
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34 Describe the physical appearance of the
Jazz player.
Ans. :
Exp. | Jazz player — a black ancient Mariner
— wrinkled old face — full of wearies —
faded — blue old shirt — old jacket —
run down shoes — unshaven face — self
brought solitude. 2 1 3
VIII. Read the following extracts and
answer the questions that follow :
5x3=15
35. “I'll make you the ‘Iaughing stock’ of
your school.”
a) Who is the T here ?
b) What does laughing stock mean ?
¢) Why did he say so ?
Ans. :
Comp. | @) Swami’s father 1
b) an object of ridicule 1
c) Swami would roll up his bed and
move to his granny’s side at night. 1 3
36. “I am the oldest man in the village."
a) Who was the oldest man in the
village ?
b) What was the name of the village ?
c¢) When did he say so ?
Ans. :
Comp. | a) Don Anselmo was the oldest man in
the village. 1
b) Rio-en-Medio 1
c) When the lawyer explained him
about the deed and the facts of real
property. 1 3
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37. “Please help me to take her to a
hospital.”

a) Who does ‘me’ refer to ?

b) What had happened to her ?

c) What was the result of seeking
help ?

Ans. :

Comp. | a) Baleshwar Mishra 1

b) Roma had fallen by the side of the
tracks, unconscious 1

c) No help from the motorists who
drove by. At last a truck driver
helped Baleshwar. 1 3

38. “It droppeth as the gentle rain from
heaven

Upon the place beneath. It is twice
blest :"

a) What does 'It' refer to ?

b) What does 'twice blest' mean ?

c) What is the mercy compared to ?

Ans. :
Comp. | a) mercy 1
b) One who gives mercy and also takes 1
c) gentle rain from heaven. 1 3
309. “Querulous, I said :

Ts there no song that I can sing of you’.”
a) Name the speaker.
b) Who does ‘Yyou’ refer to in this line ?

c) Why was the speaker querulous ?

Ans. :
Comp. | a) The poet V. K. Gokak 1
b) Mother India 1

c) The poet couldn’t able to sing a song

to praise mother India. 1 3
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IX. Given below is a profile. Write a
paragraph using the clues given
below : 1x3=3
40. Mr. Anand
Place and date : Kodagu, 26th
of birth November, 1993
Qualification : B.E., Mechanical
Profession : Manager at a private
company
Family : Wife and a son
Hobbies :  Writing short stories
Reasons for : Friendly, helps the
popularity poor people.
Ans. :
Exp. | — Inclusion of all the points

— Language accuracy. 2 1 3

X. Develop the story using the clues
given below : 1x3=3

41. An old lady becomes blind — calls a
doctor — agrees to pay fees if cured —
doctor comes daily — starts stealing
furniture daily — at last cures her —
demands his fees — lady refuses to pay
— cure is not complete — she can’t see
her furniture — doctor feels ashamed.
Ans. :
Exp. | — Inclusion of all the points
— Language accuracy. 2 1 3
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XI. Read the following conversation and

answer the questions that follow :

1x3=3

49, Ranjitha : Hello Divya, why are you
here ?

Divya : Hi Ranjitha, I am waiting

for the bus. I have to
attend a state level debate

competition in Mysore.

Ranjitha : Oh ! Very good.
Congratulations on
selecting for the

competition. May I know

the topic for the debate ?
Divya : Yes. “Science and

technology harmful to

environment.”
Ranjitha : I wish you all the best for
your competition. Bye.
Divya : Thank you. Bye
a) Where was Divya going ?
b) What was the topic of the debate
competition ?
¢) Why did Ranjitha congratulate
Divya ?
Ans. :

Comp. | a) Divya was going to Mysore 1

b) ‘Science and technology harmful to

environment.’ 1

c) Divya was selected for the state

level debate competition. 1 3
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XII. Study the picture given below :
1x3=3
43 Write a description or an account of
what the picture suggests to you in a
paragraph. 1x3=3
Alternative question for Visually
impaired candidates only. ( In lieu of
Q. No. 43)
Use the following phrasal verbs in
sentences of your own : 1x3=3
a) give up
b) keep on
c) take over.
Ans. :
Exp. | — Description
— Language accuracy. 2 1 3
Alternative questions :
— Meaningful sentences 3x1=3
XIII. Quote from memory : 1x4=4
44. It is enthroned ..........cooeveiiiiiininnn
................................ seasons justice.
OR
[[] CCE PR/NSR & NSPR(D)/900/7819 (MA) [ Turn over
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Comp. | Exp.

Rem. | Itis enthroned in the heart of kings ;

It is an attribute to God himself ;

And earthly power both then show likest
God’s

When mercy seasons justice. 4 4

OR

Then let not what I cannot have
My cheer of mind destroy :
Whilst thus I sing, I am a king.

Although a poor blind boy.

XIV. Read the following passage and

answer the questions that follow :
1x4=4(2x2)

45 Narendranath was born in 1863. He
was the son of Vishwanath Datta, a well
known lawyer of Calcutta and
Bhuvaneshwari Devi. Vishwanath was
known for charity and was respected by
everyone. Bhuvaneshwari Devi was a
pious lady and a good storyteller too.
Naren learned the Epics and Puranas
from his mother. He also inherited her
memory among the other qualities.
Narendranath was an all rounder.
He could sing well. He was good at
sports and had a ready wit. He liked to
meditate. He would get lost in his

thoughts about God and for a time he
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would not see or feel anything around
him.
a) What examples in the passage tell
you that Narendranath was an all
rounder ?
b) What qualities did Narendranath
inherit from his mother ?
Ans. :
Comp. | a) Narendranath was an all rounder.
He could sing well. He was good at
sports and had a ready wit. He liked
to meditate. He would get lost in his
thoughts about God. 2
b) Bhuvaneshwari Devi was a pious
lady and a good story teller too.
Naren learned the Epics and
Puranas from his mother. He also
inherited her memory among other
qualities. 2 4
XV. Answer the following question in
about 8 - 10 sentences : 1x4=4
46 How do you say that the poet’s

Appr.

grandmother was genius ?

OR
How does the poet wish to praise the
mother India ?
Ans. :
The poet says — grandmother genius —
climbed trees — even at the age of 62 —
learnt from her brother — people told
her — she disagreed — TIll grow
disgracefully — one day — she climbed

a tree — couldn’t come down — after

[] CCE PR/NSR & NSPR(D)/900/7819 (MA) [ Turn over




31-E 18 [CCE PR/NSR & NSPR |

Qn. foe
Nos. oil;)ijve: Value Points Marks Total

Comp. | Exp.

the rescue — doctor suggested — rest
for a week — brief season in hell —
when felt stronger — demanded a tree
house — son dutiful — fulfilled her wish

— drinks sherry with the poet.
OR

The poet — wants to praise — Mother
India — with a song — sing about
Himalayas — three seas — clear dawn
— rock cut temples — epics in stone —
children who sacrificed their lives for
the country — progress — dam and lake
— steel mills — ship building yard —
men working — to technologise — to put

the country — atomic age.

XVI. Write an essay on any one of the
following : 1x4=4
47, a) Water pollution

b) Importance of yoga

c) Internet and its uses.
Ans. :

Exp. | Inclusion of all the points

Language accuracy 2 2 4

XVII. Write a letter using the information
given below : 1x5=5

48. Imagine you are Suhas / Saritha
studying in Government High School,
Narayanapura.

Write a letter to your father requesting
him to send you examination fees.

OR
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Write a letter to the Municipal Officer to
provide drinking water facility in your
area.
Ans. :

Exp. | Format

Matter and language accuracy 2 3 5
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